PARALLEL SET

T

= Parallelism between top and bottom: 5um \
= Heightdifference of amatched pair: 5um

= Hardenedto HRC55-60

6533-144

Code Parallelsperset Length(L) Thickness(W) Height(H)
2 10, 15, 20
3 11, 16, 21
4 12, 17, 22
5 13, 18, 23
6
8
1

6533-20 20 pairs

14, 19, 24
11, 16, 21, 26, 31, 36
0 13, 18, 23, 28, 33, 38
12 15, 20, 25, 30, 35, 40
14 17, 22, 27, 32, 37, 42
6533-143 14 pairs 5 14, 16, 18, 20, 22, 24, 26, 28, 30, 32, 35, 40, 45, 50
6533-144 14 pairs 10 14, 16, 18, 20, 22, 24, 26, 28, 30, 32, 35, 40, 45, 50
8 11, 16, 21, 26, 31, 36
10 13, 18, 23, 28, 33, 38
12 15, 20, 25, 30, 35, 40
14 17, 22, 27, 32, 37, 42

6533-242 24 pairs

6533-241 24 pairs






